How to work out Fred’s pension income
· Years in scheme
· Divided by accural rate
· Multiplied by pensionable earnings
So
· the scheme has an accrual rate of 1/60th
· he was in a DB pension scheme for 40 years
· You retire at 65he retired on his normal retirement date on a salary of £60,000 a year
This would give Fred a pension of:
40 (years) multiplied by £60,000 (salary)
Divided by 60 (accrual rate) = £40,000 a year 
This figure would be less if a lump sum had been taken.
He has not exceeded his lifetime allowance as this stands at £1,073,100 (2020/21) and his lifetime allowance used for a DB Pension pot will normally be calculated at 20 times his first years pension (£800,000).
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